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Section - A [0x1=20] COK K
Answer ALL the Questions level
An cquation that equals two mtiods . ol Kl
[a] Ratio [b] Proportion [¢] Indices [d) Logarithm
3 Find simple interest on Rs. 1500 at 5% per annum for 2years _____. ol Kl
] 100 [b) 150 [e] 175 [d] 50
1 Time value of money indicates that ; col Kl
(] a unit of money obtained today is worth more than a unit of money
obtained in future
18] a unit of money obtained foday is worth less than a unit of money
obtained in future
(c] there i no difference in the value of money obtained today and
[Omomow
[d] none of the above
4 Relssonship between annsal nonvinal rate of nterest and anmun effeciverate O Kl
i of mterest, if frequency of compounding is greater than one -
(3] Effiective rate > Nominal rate [b] Effective rate < Nominal rate
I¢] Effective rate = Nominal rate (d] Effective rate / Nominal rate
5 If A and B are symmetric matrices of the same order, then . o3 Kl
(1] AB is a symmetric matrix
b) A - B is o skew-symmetric matrix
[¢) AB + BA is a symmetric matrix
(d] AB - BA is a symmetric matrix
03 Kl

6,  The cubic equation bas :
[u] | degree [b)2degree  [c] 3 degree (d] 4 degree




@ [d] 512
then the lines will be
(b] parallel
_ mmawﬂ:::“
me the Jetters of the word
many ways can (€] 60 [d] 560
: 75
[a] 2775 [b] 150 (c] 5550 (d]
11, The number of subsets of the set {6,8,11] is : @ 11
(2] 9 [b] 6 [c] 8
12 M fixy=x+3 and gf )= x? then f{x). g(x) is
[a)(x + 3)? [b)x* +3 [e}’ + 327 )43

13, f marginal revenue is equal 10 zero, then |
(2] total revenue is zero .
(b] average revenue is zero

[¢] total revenue is at a maximum or a minimum

[d] average revenue is at 2 maximum or 3 minimum

14 The economic concept that corresponds most closely to a "derivative” in ed
calculus is the concept of :
[2] an average value [b] 2 total value
[c] 2 marginal value [d] economic profit 3
IS.  Minimum price is calculated as , Co4+ Ki-
[a] Variable cost + Fixed costs [b] Marginal cost + Contribution
[c] Marginal cost-Contribution [d] Variable cost - Fixed costs
16. hammhﬁkmhyﬁe Co4 KiI
[2] individual concern [b] Market forces
[c] Both 2 and b [d] None of the above
17. Two equations in two variables taken together are called . Cos ki
[3] linear equations [b] quadratic equations
[¢] sumultzneous equations 2 [d] radical equation
1% Whﬁ:wﬁleilnqﬁummdulnﬁql,lbemhnid cOs5 Kl
0be
[2] quadratic equation [b] radical equation




braic expressions joined by an inequality symbol is known as ;
[b] equality statement

Two alge

(8] inequality statemnent

[c] true statement [d] false statement

Graphically, the pair of equations 7x —y = §: 21x — 3y = 10 represents two

lines whichare -

[a] intersecting at one point [b] parallel
(€] intersecting at two points [d] coincident
Section - B IS x 6=230]

Answer ALL the Questions
lain the importance of studying business mathematics.
[OR]
[llustrate the definition of simple and compound interest with their formula.

Exp

the addition and subtraction of matrices with an example.
[OR]

[llustrate Cramer’s rule for solving system of linear equation.

Outline

Explain circular permutation in brief with examples.

[OR]
Define and classify with examples: (i) sequence (i1) series.
[lustrate Marginal revenue, Average and Total revenue.

[OR]
Find the derivative of e,
Explain Quadratic equation with a suitable example.

[OR]
Classify the types of linear system.

Section - C [5x 10 =50]

Answer ALL the Questions

(1) Find x, by solving log; x + log, + logys X = ::_’

(2) Find t, A % B' = == using logarithm.
[OR]
* 5000 is invested at 8% compound interest per annum for three years.
a) Calculate the value of the investment at the end of three years.
b) Compute the present value of receiving (i) * 6298.50, (ii) ’ 15,000 in three
years time when the discount rate is 8%.

(1) Solve the quadratic equation 2x” +4x—1=0.

COs5
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28.b)
29.2)

29b)

30.a)

30b)

2+ Syt 2= 52

and 336
2+ y-2=0 meuickel. 240 played hockey
schoo
Out of 880 boys in &

, 80 played
yed both pasketball and hockey, 80 p
played basketball of the total 64 pla

layed all the
¢ ciball and 40 played crcket and bockey. 24 Py -
cricket and bas didwpwmoﬂhgpmﬂmdhwnwn}’

three games, How many
only on game? Explain with diagram.

[OR]
State and Prove De Morgan's Law. Make a use of Venn diagram.

From the following information's find out:
a. PV Ratio

b. Sales &
€. Margin of Safety
Fixed Cost = Rs.40, 000 ; Profit = Rs, 20,000 ; B.EP. = Rs. §0,000

Obuain the output for which profi is maximum, here the total revenue CO4
ﬁm.-onRmdmno:ummﬁmcﬁoncﬂgimbya=asx-4x’~zlT&C
=X~ 12+ 48x + 11 where x =

output. (Use derivative method)
(1) Solve for x: 1x*+ 18x +7=90 Cos
(2) Solve for x: x%.1 8x-+45 =0
[OR]
Sohttheft}llﬂtﬁl:lglm ufhnnrhnthuuinmmablu graphically COs
(M x+y>s
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Section - A 120 x 1 =20) K=
Answer ALL the Questions COGs) P
According to accrual concept of accounting, financial or business transaction  CO|l K2
& recorded
[a] when cash s received or paid [b] when transaction occurs
(¢] when profit i computed [d] when balance sheet is prepared

The John Marketing Company provides advertising services to an investment  CO| K2
company 0 year [A] but receives advertising fee in year [B] The John
Marketing Company recognizes this revenue in year [A] This action of John

Marketing Company i justified by

[a] business entity concept [b] revenue recognition principle
[¢] economic entity concept [d] going concern concept
Which of the follow ing & not the feature of accounting? col Kl
[a] Recording , [b] Classifying
[c] Differentiate [d] Summarizing
Increases i assets are ; . Col Kl
|a] Debits [b] Credits [¢] Both [d] None
If transaction is totally omitted from the books, it is called? coz Ki
[a] Error of commission [b] Error of principle
[¢] Error of recording [d] Error of omission
What is the treatment of ending stock in trial balance? co2 K2
(] Debit [b] Credit J
[c] Not Cons idered [d] Subtracted from opening stock




[b) Credt umhmm .
[¢] Debit balance incash book ’ Lt als
) Dbl balance i petty cash book A0
llm#&:mthmhlhlmﬂ'mﬁh
mugnlrhgnm i hmwd huwﬁlﬁm

the resource? e " .S
(] Adjustment [b] Vakation
[¢] Depreciation [d] Waning

If the estimated amount of depreciation mmphuk : o
Rs 2,000, the adjusting entry to mm&hmn,"_ =.
[n] Debit deprecition expense, Rs, 2.000; MM
Rs. 2,000 ' * .
[b] Debit deprec iation expense, Rs. Rl- mmmh-@.oh" Bl . .
[¢] Debit equipment, Rs. 2,000; cmlldtpnchthn MﬂMNL s
(d] Debit accumulated depreciation, Rs, 1mwumm D
Rs 2,000
Book vakie = cost minus

(b] Salvage value '-'. v

(a] Current liabilitics L
(c] Accumulated depreciation  * [d} Residual yalue L i=A
whntu[nucmuhd.wlummoﬁhumlmﬁMM‘

its useful life? g _ R
[a] Capitalization [6] Depletion, + .« b g 3 LEh
[¢] Amortization (d] Depreciaion &

A bill of exchange includes__ PN i el
(s] An order to pay [b) A equesttopay . "liij‘“
[¢] A promise to pay [d] Mmaﬂkbbqiwir't'p‘gy{ ":; gy s "‘: 8
(a] An agent [b) Credior of Consignee
[¢] Debtor of Consignee [d] Principle |

2 g rg)




-ll

19.

.INII-
2l.a)

21b)

(8] Buildings

|e] Debtors
Which of the following i a liabiliy? ]

[a] Machinery [b] Creditor _ :

[c]Motor Vehick (d] Bank A
Which of the following i the best meaning of purchases? :

[a] Hems bought (b] Good bought for resale

fc] Goods bought on credit [d] Goods paid for - e
Which of the following & correct? ] _' Sy & o

(a] Profit does not affect capital ' ! et

(b] Profit reduces capital :

fc] Capital can only come from profit

(d] Profit increases capital _

Section - B . I5x6=30]
Answer ALL the Questions (A &

pass Rectification entries forthe following transactions at end January, 2017: ol
| purchase of funiture for Rs. 615 passed through Purchase Book. Fra -".

«mm«mmmmﬁuummﬁmmwy
credited but Motor Car account had been debited with Rs. 3,140 only. ,"
« Inerest on deposis received R, 60 had been debiled in cash sccount, but
had been not credited to the interest account. —
[OR]
Differentiate Capital and Revenue Expenditure.
Trial Balance as at 31" March 2019, »

e

Total b/fd 9638 9600

-

L5 »



22.b)
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G T, o e B

23
4.0

- e d . aiemm i kSR

25b)

W ey s Bamctn Sl Sl mitetalas o _ oo _ B o b

24b)

Toul dhqru um iiih _ A
dHThnmukphedonihm g
opencd with credit babnce.
Suppose the ﬂ:llowhummmﬂ 1.?' "
A credit tem of Rs. 93 Mmﬂmhh

Rs, 39

debited to deprecition accoumt
A discount of Rs.45 allowed to Natraj & shwhum
Rs.§4 ,
The total sakes return book has been lmh!uulby Rs.10-

Mad\s)

[OR]
Compare the Replacement cost with Historical cost.
Infer the obgectives of prmriiliru de preciation.

IOR]
Outline the internal causes of depreciation.
Lathikn for mutua] accommodation draws an bill for Rs.3,000 on m COo4
Lathika discounted the bill for Rs.2,925 and remits Rs.975 to Sumita On the .,
due date Lathika i unable to remit her dues to Sumita to enables htmm )

r—

the bill. She however accepts a bill for Rs.3,750 which Sumita discounts for
Rs.3.525. Sumita sends Rs.175 to Lathika. Lakita becomes mulmuni'{ '7

dividend of 80 paise in the rupee kmindﬂ-umhwmm
Accounts of Sumita in the Books of Lathika. 1 e
: ey L,
Amhuwmmdﬂmlhnqndﬁbmmilhs; 3 '
What are the salient features of NPO's? AL
[OR]



26.b)
27.a)

2020 Heal mwm-«ﬁsmuﬂ
Oct 1"
T ¢ | Bought goods from Karlon cred mm
4 |Solgoodsto Tmt mzs.m
= [cash pwhms Rs.25,000
™ 7+ |Cashsaks Rs.15000 D7
o [Goods ronised 1o ) IRLINTRNE
0" | Bought furniture for Rs.15,000
11" |Cash paid to Karl Rs.12,000
i’ 1" | Goods returned by Tarl Rs.3,000 )
T 14" | Goods taken by Neel for personaluse Rs.3,000
15* | Cash received from Tarl Rs.12,000
16™ Took kan from Parl Rs.30,000
'_17“ Sakary paid Rs.5,000 - !
18" Bought stationery for Rs.l,mo
19" Amowm paid to Parl on loan account Rs, 18,000
20" Interest received Rs. 4,000

[OR]

Examine the Accounting Concepts and Conventions in detail ;
From the following particulars prepare a Bank Reconciliation Statement to
find out the causes of difference in two balinces as on August 31%, muu
FMSW[P\'L}L&L

(i) Bank Overdraft as per Bank Statement Rs. 17,000 T
(ii) Check issued but not encashed during the August Rs. 2200
(i) Check issued but not encashed during the August Rs. 2200 '




m,}m@onmmwtnEum

,..,mms:cl‘rurdhﬂ!h'*mm"hhﬁmm.h;ﬁ oy

(i) Check deposied us per Bank Statement not entered in Cash Book

fs. 3,400
i) Credd skl
fyiit) Clubs dues paid by
Cash Book 1,200
llncn'.'dird check due to outstation 3,900

[OR]
Determing the Jdifferences between cash book and pass book.
(n 16t July, 2008 a company purchased a machine for Rs. 3,90,000 and spent
Rs 10,000 on s instalhation. I decided to provide depreciation @ 15% per
anoiim, uSIng writen down value method Dn 30th November, 2011 the
machine was dismantked at n cost of Rs. 5,000 and then sold for Rs. 1,00,000.
«t December, 2011 the company acquired and put into operation a new
at & total cost of Rs 7,60,000. Depreciation was provided on the new
on the same basis as had been wsed in the case of the earlier

of the Bank colimn in Cash Book cast short | 000
pank as pet standing instruction not recorded in

fix)

onl
machme
machine
machine. The
prepare Machinery Account and Deprechition Account for four accounting
vears ended 31st March. 2012

' (OR]

A company purchased a four years' kase on April 1, 2008 for Rs 10,00,000.
jecided to provide for the replcement of the kase at the end of four
up & Depreciation Fund. It & expected that investments will
fetch interest at 12 per cent. Sinking fund tables show that Re. 0.209234
invested each year will produce Re. | at the end of four years at 12% per
annum. Investments were made in 12% Bonds of Rs 100 each availible at
face vabe, Interest was receivable yearly on 31st March. On March 31, 2012,
the vestments were sokd for Rs 6,98,940. On Ist April, 2012 the same lease
was fenewed for a further period of4}1:l:lﬁ by payment of Rs 12,00,000.

Show jpurmal entries and give the important kedger accounts to record the

e

vears by seiting

above Transactions.

Reenact the Eight parts of Bill of Exchange in Accounting Aspects.
|OR] ‘

Raj Mills Lid of Ahmedabad sent 100 pieces shirting to Fancy Stores,

company ¢ kises ts books of account every year on 31st March. '

co2 K3
o K3
co3 K3
co4 K3
o4 K3



Delhi, on consignment biss, The com ignees are entiked 1o receive 5 P9 Ll
conmmis lon phis expenses, The cost to Raja Milk Lid s s, 600 per pRee:
Fancy Stores, Dethi, pay the follow ing expenses;

Raikvay Preight, ete Rs, 1,000 : ‘
Godown Rent and Inswrance Ry, 1,500

Raja Mills Ltd. draw on the cons ignees a draft for Ry, 30,000 which b duly
nccepted. It i discounted for R, 28,650, Later Fancy Stores, Delhl, report

that the entire consignment has been sokd for Rs, 78,000, Show journal entries
and the important kdger accounts I the books of the cons Ignor.

Mr. Z owns o gencral store in Delhi and does not maintain his nccounts
doubk entry system. His assets and labilities on Ist April, 2031 were A%
follows: Dills Payablke Rs, 20,000, Creditors RS, 13,100, Stock Rs. 1,20,000,
Debtors Rs. 66,000, Cash in hand and at Bank Rs. 67,100 and Machl
1,50,000

on COS

ne R,

His position on 31st hl‘lnrch. 2012 was as follows;
Machine Rs, I..'r{l‘.{lﬂl]. Deltors Rs, 93,200, Motor C yl.'IL; Rs. 1,20,000, Cash
in hand Rs. 30,000, Bank balance as per banks-statement Rs. 59,300, Stock
Rs. 1,34,000 and Creditors Rs, 87,000,

During the year, he withdrew Rs, 45,000 for househokl requ rements

motor evek was purchased for Rs, 1,20,000 for business use. A cheque for

and a

Rs. 7,000 ssued in March, 2012 was not ptcscmud to bank upto 3 st March,
2012, v,
nded 31st

Ascertain the amount of profit carned by the trader for the year ¢
March, 2010 after making the follow ing adjustments:
(8) Write off Rs. 4,000 as bad-debts and make o pr'mri.-aiuu for doubtful debts
@ 5% on the remaining debtors.
(b) Provide for full year depreciation an Machine (@ 8% per annum and on
Motor Cycle @ 10% per annum on diminishing ba lance method.

[OR]
Sketch the pro forma of Receipts and Payments Account and Balance Sheet

CO5

for Not for Profit Organization.

K3

K3
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n. Section - A
0. Answer ALL the Questions

|
o WE the rules that define human interactions, CD_' i
(a] Values [b] Good faith
[¢] Personality _ . [d) None of the above |
wellp Clma dyaenen arenpugdmid aflfdser |
(o) ‘s (m) seewpthiRdms
(B) senenn @) Cupaai e sigapdwma
We are poing through a crisis of value in our social and life. col K2
[a] social [b] political [c] family [d] none ul’l}}c above
s SINIAGT sap& WPgth aungpaenauded wPLSen Cpayssy ey
spRa®Gom.
(&) sapa (o) HNOF e
(B) @@uuh . (%) Cupsein_maagaplama
What are the factors of language growth? - col 2
(a] Level of literacy [b] Cultural growth
[c] both (a) and (b) [d] None of these
Quomyf swenjd @ el angenflaar urnenes?
() sedaflufalarae (@) serdsny aenid®
@) @oewEis (S) wHpb () &) Qe o154 @ LA NSV
is to be identified with other feelings. col K2
[a] Moral [b] Value [c] Empathy [d] Respect
R L T SfenL_gInenLh KAeRILILIL Garawr(pLi.
(=) poidsd (4 w@uy (@) ussnggmud (%) wfureg
Karma mecans . CcOo2 Kl
[a] action or dead [b] confidence
[¢] social value [d] reliability
SH0T 16l a sy Cunger
(&) Cowed yaws Q0SS (o) pifdms

(B) sapsw@iiy i (#) piaBHBREND




religion takes Mohamad as

‘ the messenger of God Allah,
[a] Hindu  [b) Islam [¢] Christian [d] Sikhs
Gmrrpomﬂ.m seamh  yedeunpbafer Srmore wpth G Ceranalng:.
(=) Qs 1 () @ebevmb (@) D ebaard (W) Apaluny

The founder of
vardhaman,

[a] Jainism [b] Islam (€] Hindusm [d] Buddism
vETS eIl —— wedes Bartgslssr) avarfiar @ppens Quiant

— I8 Lord Mahavir whose childhood name is

YL P AT

(m1) #ineww (2 Bardaivrh (B) St (») Libm
—___ means without violence,

[a] Crime [b] Civil [c] Ahimsa [d] Himsa
\ sTEMm T suslipenn @eaane Bovinigy.

(2) GODE (&) Pedd T N

Proximty 1o nature is a charactenistic feature of P

[a] agranan society [b] urban society”

[c] industrial society [d] post-industrial society

Fupsnavar yomarenio L0 TUY T E— sapsS L 1y FnuiNwey
S LD LD @D '

(m) afarrmu () psp

(8) QasmPeaigienp (") QamPsigenpdd Igensw -
he total organisation of social life within a limited arca may be termed
as x ’

[a] & community [b] an association

[¢] an mstitution [d] a society
9 GO L ugRd@aramen saps aunpaemadar Qwngs senioLiy

(&) S FapaLd () Sp snimid

(B) o0 Poaeans (%) 9@ FaopTLLD
Which of the following will not be considered as Primary group?

[a] Family [b] Peer Group - [c] Neighborhood '[d] Crowd
(S arameaaranfled 15 (PSATENLOE @ (LPAUITSE SHBLILIL rr;_ﬂ? il

(&) SOubnd (&) wd Gap (B) oswrene. aliaf  (#) sl L 1D
The main duty of the family is o
' [a] schooling [b] SOCEﬂllZﬂlllJl'l

[c] internalization |d] agriculture
FHuugPar paifw &L_aw ! I

(&) werafl gy (M) FUPELDWIDTHESD

(@) Cawafipr [Bounprdsev (%) afleusmwid

co2

CO3

CO3

co3

CO3

Kl

Kl

Kl
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& ... g ;l'.:‘*_': i —"S'- ."r ﬁ
Soxal st i comcenmeed with equal Justice, o just fn the courts, butin sl CO4 -?wg-‘??‘.‘?}:
- W
e g gl ity [c] college [d)allofmeabove o E
g ceobigeri el @ureba, vy aviodaohgrd ji‘"
{n\Wm M) sPiud sepia ' S wds g
(& salqel s ) Durmarder onar mnrandsnt . . § e
he wond secularism came from . : CCII m **5
[a] Portuguese [b] Greek €] Latin [d) Spanish e B
m.pirtﬁhﬁ'mo*m IR - ¥ R e p &
e Qo risa Rt Rend (o) ROpkach (®) afer (" :
R RE - 2 | v
fatepniy i denved from qualities such as honesty and consistency of . CO4  KJ
[a] ream [b] mitegnity Iclelut:ia d]mmbimy i .
T fenan ae i Resaaaenn r Gurrelp :
e A v "
) oy ) Gadenan @) ackenin (#) Qumpriny
18 a feeling of an ideology among a section of people. co4 K2
[a] Regronalism (b) Dravida Movement
|L ] Communalism [d] Seculansm

TN 98 vaRPafon Ju 2 o 9 oawioy Neaw 93

PAsTRRID «Air‘

(o) SR Rerarngad () Rovale @urssid v
(R es@oyaisan (%) ingsdandiParenin E ¢
What is the main basis of the structure of family? cos Kl
[a] Husband [b] Mother [c] Both (a) and (b) [d] Marmiage

AL s L enuia waRa i Uuen ag?
(&) savard (&R sl (B Qoawae (&) woons (a) &

& prewin ’

Family is an agent of : L
[a] mamage [b] soctety  [¢] socialisation (d) social institution _ . =3
_ Sa gneay) suiied sy . '
(&) E@wenh (o) sapsd (B) spsunrdssd (=)

sy gyarand
1s one of the main aim of family life. cos
[a] Procreation [b] Mam
|¢] Production of chald [d] All of the above
@Pbu anjlasdar wilu Ogrdsisala) gany
(=) Qaraigpsed (=) P@weawnd
(B) sysesdare pusR (#y Guopa flus swvggnd
What is the second basis of the structure of the family? ; Ccos °
[a] Husband and Mother [b) Mamiage .
[¢] Procreation [d] All of these _ '
SPLuiARar & enwoSal @oain_Taug sy Liven sraia’
(o) Sawauar wHOID ST () B@weawd
(® @eiQumisd (%) @enar sy enewggis

3
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] -' ? 2
Section - B ; §y6-30] CO(s) K-
Answer ALL the Questions : Level
State the importance of Karma Yoga. s ol Kl
ain Buinarael Lwiﬁu“mﬂm (APTY Aaeyid.
. - | oveagy
List out the significance of values, : Col Kd f
iy sefish wiRudgagens wi 19 w18 (B i ol ‘
State the basic characteristics of Jainism. CUS e
rinen Logs el g Ui rent i menen @050 08 (5 A a e,
| msovgy |
State the moral values of Hinduism., : co2 K2
@ra iomaDed majifa oDysenamad B ) W1,
What are the issues of social integration? | co3 K3 ;
sapa goyn Do Sar Bdsaaar wirene?
3 | | ensdeog|
Identify the importance of socialism. 3 co3 K3
Cagmysnc s Garconipet pARwggiogens aven wmemh arss.
List out the transparency in professional values. \ co4 =
Qe wenm wiyselad Qarefliime g gelreninenes L g ure (B s :
| onsdovg] '
b)  Distinguish between Integrity and commitment, COo% <
Omgenwo iDod  syduenNifeaear Gaigiu G dhnis.
§.a) State the role of family in value formation, co5 e
Wiy 2 manssg e @@uwusBear Lnienas s pIKiser.
([EEr
b)  Write short notes on mass media and democracy. cos K3

Caimemen senL_amiael LODHDILD meupnusih @O85 Op GO S1UpHs.

n. Section - C [5 x 10 = 50| CO@s) K-
0. Answer ALL the Questions Level
a) Explain the different classification of values. Col Kl
wB Uy seiar QaraGagy eusnaium’ ent aflend @ miaen.
| misevg |
b) Explain the self-initiatives and self-confidence. L Ccol Kl

s (ot wPpib seirans fdmae o Rwapeanp aflers @ msar.

7.a) Explain the beliefs and practices in Sikhism. CO2 K2
PiDu 10sEDe) o crer EibiTEenamar OPDID BedL_penpaes an aflars @ siser. N
[
7.b) Explain the reasons for social problems like fundamentalism in India. CcO2 K2

B EPuraile sy tuent_suags Cunaip sapsct Tpdf s gnianes
& rgessnisanen allard @ nisar,
4



..nl

b)

)

b)

identify the political awareness and its levels,
s el fuyemdenaiy sypeh Benevmensnuih ey immb srass,

| ansvengy |

Categonze the different democratic functions prevailed in India,

{j“'-i_‘fif""ﬂ""' £_aNET (DS SRSETIUE GO snen ﬂtﬂmﬁmﬁ

Explain the different types of accountability,

e Gaumy evenmwmen Quagyiiyentiema aflans @ siser,

| nsosog|

escribe the arcas of Integnty and Commilment,

1a jenio topmih o gy ciunc g el LW aonen afleufldaai,

Explain how family helps 1o inculeate social values among children.
s ippemsaaion Gu sgpa alapilfluniaenen aranjda. @@biib eraiaing

s aayEns sTENTLIEnS ni‘mi@ﬁ&lﬂ.
[ onse0gi]

Describe how values can be promoted through educational institutions.
soal doieamaiaan gpah @ yaemen sraiamg Guobu@ggemb sieinu g

& —~" .
alaup 5 A e)ID,

03
cO4
CO4
CO5

CcOs -
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Programme: B.Com (Professional Accounting)

Reg No:

G.T.N. ARTS COLLEGE (AUTONOMOUS)

END SEMESTER EXAMINATIONS -NOVEMBER 2020
(UNDER QUTCOME BASED EDUCATION (OBE) PATTERN)

(Afifiatedd 1o Moadwrai Kamarey Unoversity A conedived by NAAC with B Grade)

Date: 20.02.2021
Course Code: 20U'PAC12 Time: 10.00 am - 1.00 pm
Course Title: Business Laws Max. Marks: 100
Section - A [20x1=20] K-
COy)
Answer ALL the Questions Level
Conaderation must move at the desire of 01 K
{a] Promisor |b] Promisee
[¢] Attorney [d] Donee

An Agreement is void if it is opposed to public policy which of the following

ol  x2
is pot covered by heads of public policy .
|a] trading with an enem) [b] traffic in public office
[¢] mamiage brokerage {d] to do impossible acts
Generally the following damages are not recoverable ol K2
(a} Ordinary damages [b] Special damages
[c] Remote damages {d] Nominal damages
\ contingent contract is Col Kxi
fa] void [b] voidable [¢] valid [d] illegal
The Sale of Goods Act 1930 deals withthe 0 i
[2] Movable goods only {b] movable goods only |
[c] Both movable and immovable goods [d] all goods except omaments
If A agrees 10 deliver 100 kgs of sugar to B in exchange of 1 5mits of cloth | K
then it is
[2] contract of sales [b] barter
[c] agreement 1o sell [d] sale on approval
Which of the following is not an implied condition in the contract of sale? o K
(2] Condition as to title
[b] Condition as to free from encumbrance
[¢] Condition as to description
[d] Condition as 1o sample



The unpaid seller has right to stoppage of goods in transit only when the coz Kl

biyer. . o
[a] Becomes insolvent [b] Refuses to pay price ;
[c] Acts fraudulently [d] Misuses the goods
I'he term Partnership has been defined under of the Partnership col}  Kli
Act, 1932 .
[a] Section 3 [b] Section 4 [¢] Section § [d] Section 6
e most important element in Partnershipis_____ . co3 K2
[a] business
(b] sharing of profits
|L] :t;-r-r.'rnwnl
[d] business 1o be carried on by all or anyope of them acting for all .
If & Partner commits fraud in the conduct of the business of the firm: cOl .I(I
(al He shall indemnify the firm for any loss cause to it by the his fraud
[b] He is not liable to the firm ;
[¢] He is liable to the partners
[d] He is liable 1o the third party
Which of the following cannot be converted into Limited Liability cCO3 K2
Partnership?
[a] Partnership firm [b] Private company
[¢] Listed company [d] Unlisted company
A Negotiable Instrument is : CO4 Kl
{a] transferable by mere delivery or by endorsement ¢
[b] non transferable
[¢] transferable by delivery only
[d] nontransferable by endorsement
The Promissory note should be E COd Kl
[a] conditional undertaking signed by maker
[b] unconditional undertaking signed by the maker '
[¢] both conditional and unconditional undertaking
[d] signed by maker of goods -
Ihe bills drawn by an insane person is; . CO4 K2
[2] valid against him [b] void against him
[¢] voidable as against him [d] illegal against him




General Clauses Act, IID? L e e ol K2
(a] generic and territory defined
[b] non generic
[¢] generic and territory not specifically defined
[d] non generic and territory defined J :
\n Act is said 10 be Ultra Vires a company when it isb-cyondmgw Cos Kl

of

(a] the company [b] the directors
[¢] the directors and not company ~ [d] the Articles of Association
Turquand Rule isrelated to COs K2
[a] Doctrine of Ultra Vires
[b] Doctrine of constructive notice
[¢] Doctrine of subrogation
|d] Doctrine of Indoor Management
The Preamble of an act expressesits Cos Kl
[a] scope and object of the act
[b] scope , object and purpose of the act
[c] only scope of the act y
[d] only purpose of the act
External aids in Interpretation of statutes in corporate cos K2
[a] only historical aids and facts
[b] only consolidating statutes
[c] use of foreign decisions
(d] historical facts, consolidating statutes and foreign decisions
Section - B 5 x 6= 30 K-
Answer ALL the Questions COw) L
Bricfly bring out the differences between Coercion and Undue influence, Col K|
[OR] ’
“The agreement made without consideration will be valid and enforceable™, COl Kl
Discuss.
What is price? How it ascertained under the Sale of Goods Act? c02  Ki
[OR]
Write a short note on Sale and Bailment, co2 . Kl
Explain in brief the Implied Authority of Partner as an Agent of the firm. Co3 Kl




sa)

28.b)

20.a)

29.b)

0.a)

30.b)
|

[OR]

Mention the statements 10 be filed as per Section 11 in Limited Liability
partnership. ¢
the essential requisites of Negotinble Instrument.

|OR]
vou mean by Substitution of Functionaries under the Generanl

Sinle

What do
(" |nuses Act, 18977

Who is a Promoler as per {‘nmpnnics Act, 20137
[OR)
Explain about Doctrine of “Noscitur a Sociis”. 4 ‘
Section - C (5 x 10 = 50

Answer ALL the Questions
on the essential requisites of a valid offer.
[OR]
Nescribe the law relating to the position of a minor as per Section |1 of

[ Inboratc

indian Contract Act, 1872.

Discuss about the Doctrine of Caveat Emptor.

1OR]
Give examples for the Right of Lien of an unpaid seller against the goods.
Explain the different types of partners in a firm, ;

IOR]

Briefly explain the grounds in which the court can dissolve a firm as per
Section 44, !
Explain with illustration as to what is meant “payment in due course”.

[OR]
Discuss about the provisions applicable to making of rules or bye-laws after
previous publication.
The Companies Act 2013, introduce a new class of company which can be
incorporated by a single person. Give your interpretation.

|OR]
Report the importance of Memorandum of Association and its forms.

COs

coz

Cco3

COo3

CcOs
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Answer

Which pr
(o] \Vacuum fubes

Jdic IADEs
[c] pagnetic tape

Section — A 120 x 1 = 20)
ALL thc'Quullnnn

duct is used as circuitry in first generation computers?
(A"

[b] Transistors
[d] Coils

Which vear represents Third generation computers?

[a] 1983 1963

' 10T - :'t'll“
cll -

[b] 1964 - 1971
[d] 2010 onwards

he computer connected to the network of other computers is known as?
| T A g -

a] Mini Computers

[c] Main computers

[b] Micro Computers
[d] Super Computers

Mainframe computers are also known as?

[a] Small Computer

[c] Large Computer
Expand CPU

[a] Control Processing unit

(c] Calculation Processing unit

[b) Super Computer

[d] General computer

[b] Circuit Proccssiﬁg unit

[d] Central Processing unit

Ihe set of instruction that the microprocessor execute is called?

[a] Band with

[c] Instruction memory

Expand SOD in Microprocessing
[a] Second output dataline

[c] Software output dataline

[b] Instruction set

[d] Micro instruction

[b] Secured output dataline

[d] Serial output dataline *

CO(s)

col

CoOl

Col

COl

CcCO2

COo2.

K-~
el
Ki

K2

K2

Kl

K1




14.

16.

The register which holds the address of the ocation 1 o from which data are

to be transferred is called?
(8] Instruction Register [b] Index register
(€] Memory address register [d) memory datn register

Start and end is represented by an in a Nowchart.
[a] Parallelogram

[b] Oval
[¢] Rectangle [d] Arrow
The command used 1o perform various operations in file.
[a] Flie [b] Fill
[¢] File [d] Fllie
The command used to dele file is?
[a] DELL [b] DEL :
[¢] DELETE [d] DELE
Expand DOS

[a] Direct operating system
[b] Delete operating system
[¢] Distance operating system
[d] Disk operating svstem

Which of the following is a part of the machine instruction?

[a] Data [b] Mnemonics

[c] OP code [d] Address

Assembler translate language code into ______ language code
[a] Machine to Assembly [b] Assembly to Machine
[¢] Computer to Human [d] Machine to English
_____provides faster execution speed

[a] Instructor [b] Controller

[¢] Container [d] Complier

What type of language is FORTRAN -
[a) Formula transfer [b] Formula Table

[¢] Formula Translator [d] Formula Train

col

co3

cod

COo3

Ccod

co4

CO4

COo4

Kl

Kl

Kl

Kl

Kl




What does HTTP stand for?
(1] Hypertext Translate Protocol
(] Hyper Text test Protocol
[¢] Hypertext transfer Protocol
[d] Hyper Test Transfer Protocol
Which is the final part E-Mail message?
(0] Address [b] Command
[¢] Attach [d] signature
field indicates the purpose of E-Mail
(a] To : [b] From
[¢] Subject |d] Attach
Expand SOAP
[a] Simple ( bject Access Protocol
[b] Sample Object Access Protocol
[¢] Srandard Object Access Protocol
[d] Single Object Access Protocol
Section - B
Answer ALL the Questions
Describe briefly about the Micro and Mini computers.
[OR]

I'ell the Characteristics of Computers.

[OR]

Explain about Machine Cycle in computer Organization,
Demonstrate about any four types of computer software.
[OR]

Ilustrate the system development life cycle model.
Explain briefly about the popular High level Language.
[OR]

Write short notes on history of internet.
[OR]

Write a brief notes on World wide web

Demonstrate the characteristics of good programming languages.

.

[5x 6=230]

List the functions of Input Output Architecture in computer organization.

LT
cCos K2
CO5 Kl
CO35 K2
C05 Kl

K-
COis)

Level
cOl Kl
CoOl Kl
CO2 Kl
cO2 K2
cO3 K2
co3 K2
CO4 K2
CO4 K2
CO5 K3
CO35 K3




Section - C

Answer ALL the Questions
Describe in detail about classification of computers.

[OR]
[ist the Applications of computers.
Describe the Central processing unit in COA.
[OR]
Explain in detail about Bus architecture.
Illustrate the standard application program and problem solving.
[OR]
Classify the unique application program and structure logic.
Explain the generations of programming languages.
[OR]
Classify the Categories of high level language.
Explain the usage of search engine and email services in detail.
[OR]

Illustrate the Protocols used in internet.

(5 x 10 =~ 56§

Coz
co

cos

cos

CO5

K-

Ki

i
Kl

K2

K2

K2
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R
on Section = A 120 x 1 = 20) K |
W Answer ALL the Questions £O%). G
| ‘May' I used to take . f Col" K
8] permiss ion [b] obligation  [c] ability [d] like
. What & used as part of a verb phrase after do or a modal auxiliary verb? col K2
) [a] perund [b] mfinitives
(c] present partic iple (d] past participle
X Ihe question form of the following senfence & ! Yes, She speaks  CO| K2
Englih '
a]Is she speaks English? [b] Has she speaks English? y
] Does she speak English? [d] Was she speaks English? 1
4 What will be the question? If the response s “He s my father Ram."™ - col Ki
{a) Who is this? [b] What & he to you?
(c] Where is he from? [d] What is he?
g me it whilk she reached. co?2 Kl
[a] was opening [b] opened [¢] open [d] is opening '
6 Which fense i used to describe an action that is just completed? - CO2 Kl
[a] Smple present [b] simple past :
[c] present perfect [d] simple continuous
7 For doing experiments, the tense form of the action word s used.  CO2 K2
a] Smplk present [b] simple past
[c] simple future [d] simple continuous i
8 Whenthe verb is in the past tense, the verb in the main sentence  CO2 Kl
changes.
[a] Reported [b] reporting [¢] main [d] dummy
. s




Idioms and Phrases; Choose the e xact meaning:
To get i hot waters:

[a] to get into trouble

[b] to enters waters heated by the sun

[¢] to be in a confused state of mind

[d] to drink hot waters
Jioms and Phrases: Choose the e xact meaning:
petween the devil and deep sea:

(4] dilkemma [b] angry in temper

] to choose correctly (] to live dangerously
Choose the correct antonym of the word : Ruthless ‘

{a) milkant [b] might [e] mnjestic [d) mercifinl
Choose the correct synonym of the word: Resume

(4] new start [b] verdict [¢] outline [d) summary
which & an act of communication between writer and a reader?

[a] Reading |b) Listening [c] Speaking  [d] Writing

Comprehension i the act of

[a] Knowl dge [b] understanding [c] analyzing  [d] remembering

Reading comprehension involves kevels.
[a] three [b] four [e] five [d] two
Comprehension must be and diminutive.
[a] short [b] complete
[¢] personal opinion [d] passage
Note — making should be numbered and
la] exclusive ly [b] sokely [c] completely  [d] coberently
Note- making should be developed by the students, practically at the _.
kvel
[a] mddke [b] higher [c] low [d] primary
Note-making is mainly a matter of practice an
[a] notes [b] sentence [c] pnméc [d] dscuss ion
Note-making should be presentedasa ____ ina perfect way.
[a] summary [b] paraphrasing * [c] précis |d] abstract
Section - B
Amwer ALL the Questions 5X6=30

How are wregular verbs different from regular verbs?

2

cm

E

2

CO4

CO4

COs5

COs

COs

COs5

COfs)

Kl

K1

Kl

Kl

Kl

K2

Level
Kl



21.h)

32 .n)

y J3b)

M)

21b)
2M.n)

M)

25.i)

I

Jhoa)

M b)

a1.0)

21.b)

2K.0)

28.h)

[OR)
How woukd you distingiish between # finko and non ~ (inke verh?
Defioe “tonses and the e uves™, -

[OR|
How do you ohange an aotive semtence With two objeots into pass ve?
Poapladn the ohjectives of kaming vocabulary,

[Ow)
felate the term peefix and suffix with proper lustratlons,
Summat b the word “Compeebons lon”,

[
Closndty the metivickes and identily the main kea of Comprehons lon,
Compnrison between  Note = taking and Note — making.

. jonr|

Iaphiin the stops-in Note - taking
Sectlon - €
Amswer ALL the Questiom SX10+50
When do you use o conditionn | ¢ lhuse?
[OR)

Find the sentence patiern,
I, Wirds 11y 2. 1 cat an apphe 3 Fam a teacher
1, Kumar was ekected a kader 5. The cow gives us milk
6, He runs Tast 7. He bought o car yesterday 8 Yesterday | came
0, My futher is 0 cherk 10, Arun played well

Expliin punctuation and illstrate the various marks of punciuation,
[OR]

Demonstiate the tense et changed in ru:mrh:d speech and give examples,

Develop TEN sentences using pheasal verbs,

[OR]

fdioms amd Phrases: Choose the exact menning:

I. For the fust week, the umuculi}d el like o fish out of water.

(Trustrated, home kess, dsappointed, uncomfortablk)

ulras wround him, (unthinkable, impossible, unbecoming, indecent)

3. The company has been handed over to new maters, lock, stock, and

barvel, (complete ly, Financ lally, adminkstratively, partia lly)

3

10w out of the question for only one to have a quiet meal with a set of

Co| Kl
o< r M) 4
co2 K1
col K2
Coj3 K2
CoM K24 s
(807] K2
cos K2
cos K2
K-

C

9‘“. Level
cO| Kl
col K1
€02 K2
co2 K2
co3 K3
CO3 K3



:".' i)

4,ou-ehmthmu-mpﬁunworum.
sintion. (very far-off, with a certain radius, at a short
distance, within a definite ciroumference) |

5 M. Hashmi has been Wl the blues for the kst several
weeks.__( Abroad, unwell, depressed, lone ly)

6 The General Manager of this industry is @ host in himself (cats (oo
much, independent of others, capable of doing as much as a number of
ordinary persons, very hospitable)

7 To be Gair and square pays in the long run. (successful, honest
means, honest, worthy)

§ 1 am just a small fry in the office, (Peon, a small creature, humorous,
n person or thing of littk mportance.

0 A fool's paradise. (Paradise of iiots, to live i illusions, to live in the
past, 1o have happy dreams. )

10,1 saw him make a wry face fabuse, feel sick, cry with pain, show

dsappomtimen)
COMPREMENSION: Identify the following passage and answer the
questions.

[0 those who do listen, the desert speaks of things with an emphasis
quite different from that of the shore, the mountain, the valky, or the phins,
Whereas these invite action and suggest limitkess opportunity and exhaust less
resources, the implications and the mood of the desert are something '
different. For one thing, the desert & conservative, not radical It & more
likely to provide awe than to invite conquest. The herosm which @
encournges 15 the herosm of the endurance, not that of conquest. It brings
man up against his limitation, turns him in upon himself and suggests values
which mdre indulgent regions suppress. Sometimes it induces cnlte;nphlim
in men who has never contemplated before. And of all the answers to the
question — what & a desert good for — “contemplation™ is perhaps the best. -
| In order to receive the desert’s message, the beholder needs tobe

(a) Courageous in his reaction (b) Conservative in his responses
(c) A good listener (d) Sensitive to nature

2. The desent 5 L':niquc among landscapes in that it encourages only :
(a) Contemphation (b) Indokence :

(c) Herok endeavor (d) Adventurous spirit

4




& _ 3. 1f one responds with hlﬂﬂaﬂn mood of the desert, it evokes
- (8) An inclination for deep thought

(b) The possibility of unending resources

(€) The desire for herok conquest

(d) A sense of imense revuk ion
4 The writer calls the desert “consérvative™ rather than “radical” because i

provides an environment that

{n) Inspires man to explore it

(b) Offers unlimited opportunity to conquer

(c) Tests one's endurance

(d) Makes one gloomy
5. What does the phrase “it brings man up against his limitations,” mean?

(a) It makes man feel hope kess about his lim tations

(b) 1t makes man aware of his limitations

(c) It compels man to fight against his limitations

(dy v I'l'-'f!l.lmlt} man to overcome his limitations

[OR]
296)  COMPREHENSION: Identify the following passage and answer the
questions.

The idea of evolution was not a new one. The Greeks had thought of
it, s0 had Erasmus Darwin the grandfather of Charles Darwin, and ako the
Frenchman, Lamarch. 1t is one thing to have an idea; we can all guess and
sometimes make a lucky guess. It is quite another thing to produce a proof of
the correctness of that idefa] Darwin thought he hand that proof in his

notebooks. He saw that all animak had to struggk to survive. Those which
were best at surviving their environment passed on the good qualities which
helped them to their descendants. This was called ‘the survival of the fittest’.
For examplke, in a cold climate, those who have the warmest fur will live.
Darwin belie ved that this necessity for an anmal to deal with its environment
exphined the immense variety of creatures.

1. At the time that Darwin arrived on the scene, the idea of evaluation
(a) was an idea unheard of

(b) had akeady been proved beyond doubt

(c) had been thought of but not proved

(d) was not thought fir for exploration

"

CO4



x &nuhmhhh-m:hwﬂurmhhhmw___ .
(3) peace ful coexsience (b) a struggle for survival
{¢) mdilference towards each other () bowve and friendship
3 mtwﬂ‘lhmhlﬂhf&ﬂ‘mﬂl -
() The strong will survive while the weak will perish
(B) The strong and the weak will live peacefully
{(¢) The strong will he Ip the weak survive ;
() Both the strong and weak will survive.

4 In colder climates

(a) All ansma ks can survive (b) No animal can survival
(¢) Only animal with fur can survive (d) Animals are hard to come by

Darw n thought that the enviFonment

(a) Has no effect on anima s
(b) Has kot of effect on animals
(¢) Has a marginal effect on animals
() Has an effect on man but not on animals
302) Make we of the passage in not more than S0 words using the notes made
and also suggest asuitable tithe.
Men and women are of equal rank but they are not dentical They are be
peeriess par being supplkementary to one another, each helps the other so
that without one the exstence of the other cannot be conu:cwcd and,
therefore it follows as a necessary corollry from these facts that anything
that will impair the status of either of them will involve the equal ruin of
them both. In framing any scheme of women's education this cardinal
wuth must be constantly kept n min[d] Man is supreme in the outward
activities of a married air and therefore & & in the fitness of things thathe  CO5
chould have a greater know ledge thereof. On the other hand, nose life W
entrely the sphere of woman and. therefore in domestic affairs, in the
upbringing and education of children, woman ought to have more
knowlkedge Not that knowldge should be divided into water tight
compartment’s or that so that some branches of knowledge should be
cbsed to anyone, but unkss courses of imstruction are based on
discriminating appreciation of these basi principles, the fullest life of
man and woman cannot be develope[d] Among the manifold m sfortunes
that may befall humanity, the loss of health is one of the severest. All the

w
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Joys which life can give cannot outweigh the sufferings of . the
siek. Among the manifold misfortunes that may befall humanity, the loss
of health & one of the severest. All the joys which life can pive eannot
outweigh the sufferings of the sick.
|OR)
J0h) Muke we of the passage i not more than 80 words using the notes mile
and also suggest nsuitable titk,

Machines have, in fact, become the salves of modem life. They do more

and more work that human beings do not want to do themse bves, Think
for 0 moment of the extent to which machines do work for you. You
wake, perhaps, to the hoot of a siren by o machine i A ne ighboring
factory. You wash in water brought to you by the aid of machinery,
heated by machinery and phced in basins for your convenience by a
machine. You eat your breakfast quickly cooked for you by machinery, g0
to school in machines made for saving kg labour. And if you are hcky to
be in a very modern school, you enjoy ¢inema where a manehing tr._nchtﬂ
vou or you listen 1o kessons broadcast by one of the most wonderful
machines. So Lk:;-'mudem has man become on machines that a certain
writer imagines a time when machines will have acquired o will of their

own and become the master of men, doomed once more 1o s lavery. '

COSs
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on. Section — A 120 x 1 = 20) e
No. Answer ALL the Questions il Level
1. Roberto Blanco est 3 o2 . Kl
[a] acteur [b] comédien [c] chanteur  [d] enseignant
2 Roberto Blanco est : con K2
[a] frangais [b] espagnol [¢] italien [d] indien
3 Mariaest -, ' CO2 Kl
[a] frangaise [b] espagnole [¢] talienne [d] indienne
4 est marchand. cO?2 K2
(a) Inds [b] Maria [¢] italien [d] indien
R 5 Maric Dominique a __' ans. - co2 Kl
;E [a] 30 , [b]31 [c] 34 [d] 32
I Maric habite d CO2 K2
| [a] Dijon [b] Paris [c] Lyon [d] Bordeaux
7 n'a pas d'enfants. : Cco2 Kl
la] Le Directeur  [b] Mathieu ~ [¢] Dominique  [d] Paul
8 ~ voudrait bien faire du VTT ' co2 K2,
[a] Paul [b] Mathicu [¢] Dominique [d] un collégue
9, ___est ke jeudi noir de wall street co2 Kl
[a] 25 décembre [b] 23 octobre
[c] 12 octobre [d] 24 octobre
1. _ estenrctard. co2 K2
[a] Le Directeur  [b] Patrick [¢] un collkkgue [d] Paul
I1. Le spectack commence & heures et demie. co2 K1
[a] 12 [b] 11 [c] 14 [d] 13



_____estd Tahki

co2
(a] Nicols [b] Maria fe] Julié [d] Patrick
e Tt un iim public itaive. co2
[a] Nicolas [b] Julie " le] Marie [d] Patrick
Julie arrive co?
[a] Lamdi [b] Jeudi [c] Mardi [d] Dimanche
Charlotte dois jouera Co2
(a) Lyon [b] Bordeaux [¢] Dijon [d] Paris ;
Clest & combien La rue Lepois ? co2
[a] 10 minutes  [b] S minutes [¢] 7 minutes [d] 15 minutes
Nancy centre Belle chambre.est __ par mois. : co2
[a] 520 € [b] 250 € le)25€ (d]) 200 €
Le matin, _ regarde n-éscmnlim de Technimage. co2
(a] Inés [b] Maria [c) Amaud [d] Le directeur
_a perdu ke fichier Monte-Cristo ! co2
[a] Inés [b] Stéphanie l¢] Arnaud [d) un collégue
déteste lkes réveils. co2
[a] Samia [b] Caroline [c] La vendeuse  [d] Julien
Section - B Bx6=301 ~n4)
. Answer ALL the Questions
Complétez avec « je », « tu », ete. ; Ccol
Bonjour ! m'appelle Catherine. Voici Patricia, _____ est italienne et
John,  estanghis, ;
- Etvous, __ &tes frangaise 7
Oui ____ suis frangaise.
Et 2+ 7
[OR] :
Présentez vous. COl
Reliez ke verbe et lactivité : co2
Danser - la lecture
Ecrire : - ka marche
Lire - ‘ ka natation
Marcher : I'écriture
Nagor - letravail
Travailler - la danse
2

K2
Ki
K2
Ki
K2
K1
K2

Kl

K2
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Level

K2
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[OR] i i .. .
Complétez avec un artic ke ou une préposition : : co2 m 2
. Tufals___tennis ? 7
“ . Non, je n'aime pas ___tennis. Je préfere faire ____ marche. Jadore
promenade dans la montagne. i
- Moi, j'aime beaucoup ___ sport :¢'est __ judos

Mathicu est en vacances i la montagne. Une amie tékphone. co3 Kl
e Alors, il y o du sokila Saint-André ?
- Non,

« Tu fais des promenades en montagnes 7

- le

s Tu lais des rencontres 7
Non,

e Tuaimes Saint-André?

NGO, i

» Tu fais du ski?

Non, _

e Tu viens aujourd hui?
- Non, T
[OR]

Compklez avec « Ce », « CEt », « cette », « ces » : CO3, LKl
Le touriste curieux,

- Comment s'appelle ___ rue?

- De quand datent ___ maisons ?

- Qu'est-ce qu'il y a dans ___ musée 2

- Otva. me?

- Quelest ke nomde ___ hotel ?

. Combien de bitiments cékbres y a-t-ildans ____ quartier ?

Faites b description de votre logement kiéal CO4

K2
[OR] .
On donne des conseils sportifs. Utilisez I'impératif : cCo4 K2
- Ne pas se coucher tard.
- Bien dormir.




.« Ne pas se kever 1O __

- Prendre un bon petit déjeuner,

- Faire un jogging.

Se¢ reposer,

o) Complétez les réponses ou ks questions. Utilisez « que lqu’un / personne », COs5 K2
« que lque chose / renn
Dans une soirée.
¢ Tuconnais quekju'un ki ?
Non, _
e Tunthends . L« (i tudh ¥
Non, je n'attends personne.
e Tuwveux prendre que lque chose au bar 7
Non, ¥
e Tu veuxparier 4 _ =~ 7
Non, je ne veux parler & personne.
¢ Tucherches quelque chose ?

Non,

Alors, qu'est-ce que tu fais i ?

[OR]
Iransformez en utilisant un adjectif possessif. CO35 Kl
Ex: ce stylo est & Tristan=> ¢’est son stylo.
Ces jeux-vidéo sont & Pierre=>
Ce portable est & nous =2
(’est ke manteau de Barbara, =
Ces cartes postales sont & vous =
Ces livres sont aux enfants. =

Cet ordinateur est au prof, =

Section - C I5 x 10 = 50] K-
' A CO(s)
Answer ALL the Questions Level
6.a) La négation. Compktez ke dinlogue. COl Kl

¢  Vous comprenez ?
- Non, je

* Vous parlkez anghis ?
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o Fumadame, elle parke anglais ?
N,
¢  Vous dtes kalien ?
Noo, talien. Je suls portugals,
o Frvous comprenez lespagnol ?
Oui
[OR]
Construisesz comme dans Fexemple :

v un chanteur italien = une chanteuse italienne

o Unamidranger-

e unartiste grec s

e un comédien cébre -

o unmusicienalemand -

s un médecin russe -

Comphkitez :
o Vous connaissez k nom __ professeur ___ frangais 7
Out il s"appelie Olivier Brun. 11 park de Vietor Hugo, ___
frangais, _ auteur ____ Notre Dame de Paris.

derivain

« Notre Dame de Paris, ’est aussi ___ Cathédrake ?
Oui c'est ___ cathédrake de Paris. Clest ____ monument cé kbre.
e Vous connaissez _,  musées de Paris ?
- Jeconnais " musée du Louvre.
OR]
Vous dtes en vacances. Dans une courte carte postake vous racontez ce que
vous faites.
Présentez votre vilke' ou votre village.
(JOR]
Vous étes i Sydney et vous rentrez chez vous 3 Lyon. Ecrivez un message &
votre ami(¢) pour annoncer votre retour.
Julie et Patrick vous invite pour Fanniversaire. Vous écrivez une kettre et
acceptez [ invitation.
[OR]
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.b)

0.a)

0.b)

Trouvez les doux autres formes de question ;
* M. Jourdan (A Patrick) :
= Vous aimez k Maroe 7 «s Ainez;vmﬁ ke Maroc ?
Voulez-vous jouer ke rdk d'un policier ?
* M. Jourdan (au directeur) : o
- Patrick Marin ¢st un bon comédien ?
= laqueldge ?

- lNestmarié 77 _

_ Vous parkez frangais ?

Vous &tes guide de b vilke de' Paris. Présentez b place de la concorde. cos
[OR]

Metiez les verbes entre kes parenthéses au passé composé. Attention :
« avoir » ou « étre » + participe passé :
Chers amis,
Enfin nous sommes en Turquie. Quel beau pays ! Nous (arriver) &
Istanbul ke 25. Nous ______ (visiter) k ville. Puis nous (louer) une
voiture el n;ms  (partir) vers ke Sud. Nous ___ (aller) jusqu'a Ephese.
('est magnifique ! Hiernous  (se [iromcn:r) dans la ville antique et
nous  (vair) le cékbre temple. Ce matin Alain ____ (se kever)a 7

CO5

heures pour voir lkes monuments au lever du solqil.

Moi, je (rester)a l'hoteletj' _ (écrire) des cartes postales.

K2

K2
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